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)}; XD A partlcle follows a path defined p trically by x(t) = 2Vt — 3 and y(t) = 3¢2.
What is the peed of the particle a“ A= 2%- 3} >
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2) An obJect moving along a curve in the xy-plane has position ( x(t), y(t) ) at time t
w1th = = cos(t3) and = 3sin(t?) for 0 <t <3. At time t=2, the object is at
posntlon (4,.5). Find th€ f the object at timé
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3) Find the tangents at the pole for the polar curve r = 2cos30
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4) Find the perimeter of the curve r = 4(1 - sin0).
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5) Find the @) of intersection for r = 2 — 3sin0 and r = sin®,
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